A2

The monkey in the tree.
Answer:

The bird to find worms.
Answer:

The cat its tail.

Answer:

The dog with a ball.
Answer:

The fish in the water.
Answer:

The horse in the field.
Answer:

The turtle slowly.
Answer:

The lion in the grass.
Answer:

The rabbit carrots.
Answer:

The snake through the grass.

Answer:




Answers

The monkey in the tree.

Answer: is swinging

The bird to find worms.

Answer: is searching

The cat its tail.
Answer: is chasing

The dog with a ball.

Answer: is playing

The fish in the water.

Answer: is swimming

The horse in the field.

Answer: is grazing

The turtle slowly.
Answer: is moving

The lion in the grass.
Answer: is hiding

The rabbit carrots.
Answer: is eating

The snake through the grass.
Answer: is slithering



